yra g9 (QUESTION BANK) NSQF

HH'3 (Class) : TA=T (10™) % Wid (Total Marks)- 40
33 (Trade) : (Automobile) AH' (Time) - 3 W2

SECTION-A
&€ - AT YAS Agd! IS | (12 x 1 = 10)

1) J& feftmit feg° fagsT gast Aa9 & fe'a Segas 39

nygg |, U39 , S dAB -1
2) AT €6 I AEaret for YUz 9% 7
3) niAt TS a8 3Ae It

fex T 5% TS AI6T feg gn & fiee &t

4) ZH IR I & 598 a3 SE fagdmit it  I3T I?

(@) Ctrl+x (b) Ctrl+c (c) Ctrl+z (d) Ctrl+y
5) AUSE UBA ......... SET TIS 7eT I
6) H®e (Mallet) ... < gt get 1
7) A% UIAS (Sale person)e™ aH ... .. JI
8) ofeéar fAHEH &% .. 3 feme <" ¥709 afenr Afer J1
9) mSfdar ... e Tgf3nr 7T I
10)3% T fe®ed.. ... BT TIZT AET T
1) TDCE YT &H ............ JI
12)feas miz JSieeg fegag ... Hfamr Jer T
SECTION -B
3c - JE 2 yms' v €39 fef (6 x3 =15)

1. Wit AT e famit g9 €/ |
2. AL-YIE UT" 396 © JeHT & Het g58



3. OHt & Jet 92 fern gt fu-y famdt a9 €|

L. HUT T& wiagt 3 ot 31 I? S¥-TH 397 € niag fq93- faos 751
5. B (Coolant)d sT& a9 ©f fedt R |

6. fe€w 3faz =feg T ot 3 T5?

7. <o fénes 3% St fermsT faoshr-faaghr g57?

SECTION-C

3¢ :- 3t € yrs = €39 fed (2x5 =10)
1. &% 991 Aoars &9 faosn-2 fermas=t Jeht grdtemit Ia°
2. WMEHTfE® U39 &g aemit adt/fe™r g79 €R | (Jet UA)

3. fére 3% & gud@t fae dist At I



